EANRAROBREERT — 2 N—XBISH —F 2020458178 (B) 1@#:E4R

‘ [R1&] & ‘ [REBB] — | & (%) 18000 B

Elv>x4mr 1B/52 &R

[A&4) 1 7% :7,600,000 23 :3,000,000 " ~ 33 :1,900,000 3 43 :1,100,000 @ 5 j& :760,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
ai ae s s FIAER -53. —4-4— X . BILER (E#)
W ~vvazz (B] £ 4 ey 1(553)7 4-4-4-4 |38.3| 947 | 3 (4_524) mmﬁ%
L:O—J X121 By IINF kX K FE
- — £ 4 | BEED 1:54.1 2-2-2-2 | 39.1| 91.4 | 10 | 484 |HHERX (EX)
ol 3| NF/FLATTIV A54.0 2 1/2) (+4) EI\ISE’%E}I
:yQ7% BNXI/ 40— Edubrer)
5 =5 ; 4 5 | AUTR 1:54.3 3-3-32 | 39.1| 89.7 | 1 478 | 1HIREB (E3#)
39 FAMHhTHE 57.0 (1 1/4) (+4) EBEm
x> gAnMA— B:AXANACTRbH FHBSE
> LS . o4 | JIXER 1:54.4 1-1-1-1 | 39.6 | 89.1 | 9 494 | HETRE (ER)
N > PAEER 5y F [B] 57.0 o +6) Ak
RiFA—TALNT b BiRATIs #E77 b
S . 4 5 | HEXRK 1:54.5 6-6-7-6 |38.8| 87.9 | 4 458 | BIET (ER)
50811 XM a37hoT> ¥¢56.0 (7€) o) HAZEF I
LY I5F—1> B:U—NEo ty hXF—=T I
#o4 | Slig— 1:54.5 6-6-4-4 |39.1|88.0 | 7 | 486 |HBEM (EH)
6lsle|7Ho¥~Y .0 (7¢) G2 |EEET
RTHIHXL TR BRFHINYIREL HET7— L
> 44 | BBEH 1:54.6 12-12-11-12| 38.0 | 86.8 | 8 500 |w/lIEZ (ER)
] 4| > M1>avA479 57.0 (5E) (14 | TAEFIE
LTANNTTFHF— BHLI L TNERZ Ete
PN s . [IH]=2E : -8-8- =ier (El)
gl1l1|xrovrox7 (B] i o4 L 1.(555).5 8-8-8-8 |39.3| 79.5 | 6 :?g) efiff
R:tE>r/nJAA4 B:YIAFOXxT BHREt All%E
S RPVER # o4 | BERPAR 1:55.5 11-11-11-11{ 39.0 | 79.3 | 12 | 504 |@&AE (%)
EH g| hFARI T £55.0 (745%) () |EEHE
R:vvRagzA B:oA L) HE ik
. > 4 | SHEEA 1:55.6 8-8-8-8 |39.3| 78.7 | 5 460 | =HIERAE (GEiF)
10/5| 5| F— FATTIL 57.0 @/4) C1o) | GB) HAL—2K-2
XL THANAN BTLFT4—> BT 7 —L4
. = 4 | AEZR 1:55.8 4-4-4-6 | 40.4 | 78.1 | 2 506 | EAZEM (ER)
1118l12| V1 v FUIZT7 b * ¥56.0 1) (+4) (:r;;)”ﬁ+vvav»?« PYES
Rid—WKT7Ua— By FINS L ELY BRT 7 — L
. 5 46 | BEHA 1:55.8 8-10-8-8 [39.6| 77.3 | 11 | 474 |/M&EILME (Ei#)
12/ 7|10 ®F v 7K -4 57.0 (7E) (o) |Mr. H=X
vy TyA B:id—KY—7 EvilLyRT7—L
@ 71 L
) 51.6-38.9
NA>ZA L |12.9-11.0-12.5-13.1-12.6-12.7-13.2-12.6-13..1
@ I —F—@EBIERL
1=3—F— 2,3-9-(7,12) (6,11) (1,5,10)8,4
2o =7= 2,3-9(7,12) (6,11) (1,5)10-8,4
Fol=5r= 2,3,9(6,7,12)11-(1,10,5) (8,4)
40—F— 2(3,9) (6,7) (11,12)-(1,10,5)8,4
[ N3
BB 7 930H 714K 3-7 3,480 e E 3-6 12,360 JEHE 3-7-9 6,320
8 B 7 180M4 7-9 300 B = 3-7 16,270M @ 7-3-9 92,170
3 620M 3-9 1,210 B H 7-3 28,1904
9 110

ABRICOVTHRTEEERROODE, THEB LS,




